4 5 2 W
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION -, = . LoC DIST RE\/‘%ONS
@ COPYRIGHT — By Tyco Electronics Japan G.K. ALL RIGHTS RESERVED. J — LTR DES?R\PT\ON DATE DWN APVD
A1 | ECR-13-009444 ADDED —6 TO 1-3 10JUN2013| S N | J.K
(PHILLIPS CROSS RECESSED SPECIAL PAN HEAD SCREW) No P/N SIZF / each qTY
(SOCKET HEAD CAP SCREW) 01 20688429-1 M2X L3 20eq Tset
Ny 02 2088429-2 | M2X L4 20eq Tset
(M2AL5) (M2xLe) 035 2088429-5 | M2ZX L6 10eaq Tset
04 2088429-4 | M2.oX L4 Dec Tset
05 2088429-5 | M2.oX L4 20eaq Tset
(M2xL15) (M2xL4)
(SOCKET HEAD CAP SCREV\/) 06 2088429-6 M2X [ A3—3.5 10eaq Tset
or@ ‘ 0/ 2088429—-7 | M2X LS 10ea]| 1set
(M3xL18) (M3xL20) 038 20688429-8 | M2ZX L8 10ea| 1set
(M2xL3)  (M2x L3x 83.3) (SOCKET BUTTON HEAD CAP SCREW) 09 20884999 M3X 110 10eal Tset
(PHILLIPS CROSS RECESSED LOW PAN HEAD SCREW) 10 190884290 M3X 18 10ea| 1set
(SOCKET HEAD CAP SCREW) 11 | 1-2088429-1 | M3X 20 10ea| Tset
(M3xL10) 12 | 1-2088429-2 | M3 50ea| Tset
(SOCKET HEAD CAP SCREW) 13 | 1-2088429-3 | M2.5X L5 10eq| 1set
(M2.5xL4)  (M2.5xL5) : - .
(HEXAGON SOCKET SET SCREW) @M (Applicable) : S2P1 APPLICATOR
o M2X L3
(M2xL14)  (M2x L3) ( )
(SOCKET HEAD CAP SCREW) (PHILLIPS CROSS RECESSED LOW PAN HEAD SCREW)
THIS DRAWING IS A CONTROLLED DOCUMENT. R\ oivaya o oooos - T Commectivi
DIMENSIONS: TOLERANCES UNLESS CHg' YABE . - TE y
Bfi: %% OTHERWISE SPECIFIED: APVD 06FEB2009 | NAME
mm —RAE S. YABE B
The il Pgﬁ%gﬁsm MICRO SCREW S2P1
@ i Etg i: Agﬁ‘#ﬁgg% e SIZE CAGE CODE DRAW\NG NO RESTRICTED TO
MA};%?\AL F\EEH WEIGHT . AB 00779 @52088429 _
) ) CUSTOMER DRAWING e — T o ™ ag

1470-19  (3/11)




